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Hheprbos, derdd S8, Deschae -4, Cell 1 9160419854, 9030450459 wwhvarshithinstitute.in

Paper Code :102 GROUP D EXAM PAPER 100 QuestionsTime : 90minutes
1) Brahmos is a/an /@5 &% :
1. Aeroplaneslsrso 2. Missile/ 8¢
3. Robot*&5 (508 £02%) 4. Satelliteds 5550
2) Myopia is connected with :/$&rdcir 828 How0foRB ?
1. hearthoq 2. Lungss:88&en 3. eyestinen 4. earsBHen
3) Cosmology is the study of :évﬁgoé 828 Ho200dS ©5eHdEw ?
1. Cosmeticgdorsoereen / ) oLty PGS (Bawgen
2. Universed o 3. Crimessw 4. Manuscriptsrs($d
4)  The distance between the two consecutive points of same phase is :
Botd (ES5rSorE Yoo Fiy Erdo o8 838 afTore ©b o
1. FrequencyPs : $idgsw 2. AmplitudeBods H8dHs
3. Intensity/so® &5 4. Wavelengthédor gz
5) Acrackin a pane of glass when seen obliquely appears :
e H8E &) dibesd So88m SrRSSE, Bod Aknme S8 ?
1. Silvery/ So&erre 2. Greenbfy 3. Black&gre 4. Colouredfgshassnre
6) For alternate current we use :
ISP0SY QoS (BTSN o GDRPA0BIG:
1. Eliminatord®o3¢:6 2. Transforme[boSQé)vééE
3. Batteryéeesd 4. Dynamag s 3
7)  Friction :/ g
1. accelerates the moticih &Ben B0
2. stop the moving body completedg $&msesnid Srome e
3. retards the motiori# rEwo Ehowi
4. does not have anyfeft on motiorf&3 derod (Herssnds $mHe
8) The astronaut in the ship sees the sky agp®e TPepds TE Dol o5l & DFLnmr EAHoDHD :
1. Reddsd 2. Blackkeny 3. Bluebosn 4. WhiteBensy
9)  Which metal has the maximum use as p& metal?
& (808 Srdoos® 2o vERs o s FEaHHd ?
1. SilverBod 2. Copperen 3. Ironsdoso 4. Alluminium/eessodcohe
10) Cola type soft drinks contain&er 85285 oy Fahdwed® eoda?
1. Phosphoric aci@ﬁ@aé ERVEW) 2. Formic aci(ﬂvaéé ERVW)
3. Lactic acidt~§8 expsm 4. Acetic aciddBE ek
11) The substance used to burn Rocket fuel is :
98¢ 9085End Ho8od Fokwd edIrhoH Serin [ (g ?
1. Lead Peroxid&& o°8)& 2. Magnesium Oxid@mchs e8)6
3. Ammonium Perchloratemah 26573
4. Potassium Chlorafkracoh& &3¢
12) ‘22 Carats Gold' contains by weight :22 s%3¢5 2orPSEns® TR E0?
1. 8.4 % of Coppesdl/4 % o°n 2. 10.2 % of Coppet0.2 % i
3. 11.4% of Coppef/1.4 % o°n 4.12.6 % of Coppet.6 % o°n
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13) The nonstick pans used in Kitchens a coated with:/
Sowrfes® ad@rRoh ©otnS K FFen BS° ESSw Schathd ?

1. Polyvinyl Chloride/ 93¢ &§%8& 2. Polytetrafluoroethylengosier $6° 2698
3. Polyethylengrdgds 4. Polyamideldsiro&

14) ‘Oryza sativa’ is the scientific name of %338 @58 & [Bod RS AR ThHe ke ?
1. Wheatf®&o5o 2. Maizebwg)s™s) 3. Potatahorr#iHros 4. Ricets

15) The Chicory powderwhich is mixed with cofee is obtained fom :
5h6® Sendath 0850 Fu8 8 H008 (IfIros wikd?

1. RootsBs $00d 2. Jemkeoiisin Koob 3. LeavestHo {ood 4. Seedslgdsne ok
16) Pigment without oxygen is &8y S 2 $Y (S ?

1. Phycobilinsps*9og) 2. Caroten@6*3S

3. Chlorophyllf$:8&5m 4. Xantophyli&eo&®s&
17) Maximum Photosynthesis occurs in 88eesids So&rif Bob wosst QBT exoidSod ?

1. Sunlight/&rtsseo8 2. Infra red lighttoroes 5008

3. Blue light)® =08 4. Red lightbes sod
18) Toamato belongs to the family of :bo3rér & Hénoasnid Boddd ?

1. Gramineagrnddh 2. Solanacea@fomdh

3. Leguminosagtodns 4. MalvaceaglrSarddh

19) The organisms which can tolerate a small temperat@rrange ae called :
E& &S 8D Saroilife £2D Jkotod ?
1. SenothermalyS*s8)s 2. Pyschrophile$lg®a)
3. Eurythermalis;avaaééei 4, Poikilothermal;;_éésaééé
20) India’s first genetically engineeed vaccine is':
PEERE0 ooy Booeses esogre Se5rBNE B0 ootk ?
1. Matariavaccinetoérpoie 8s° otk 2. FMD Vaccined.c5%.& s otk
3. HBW Vaccinet=8.9.9. &so S0t 4. BCGVaccined.®.&. s otk
21) Which of the following enzymes ae mostly involved in biosynthetic eaction ?
& (Bod I O JoFSow M £5 Y8 HBERE’ oo BoBF D ?

1. LyaseshGoas 2. Ligasegrias

3. TransferasegrS) o0 4. Hydrolase3k@9%
22) The Chief function of Internal ear in fish is :8% @088 3D (Heod 98 :

1. Hearing H28& 2. Sound Productiofffd a5

3. Equilibrium&sze 8 4. Detect changes in waefi&® St Srint
23) Microlytic anemia is due to the deficiency of BEBEE $5ir5s B0 S8kw Soi Sevibdod ?

1. Folacin/ #e=8 2. Biotinkh&r&S

3. Niacinhosrs 4. Pantothenic aciifo&s* g8 eo

24) Eisthe son ofA,D is the son of B.E is married to C.C is B daughter How is D Related to E ?
E A G H&rsi, DB @) Hird. E,C J dardrdah. C, B &) 53, owds® D, E 8 O d8kum
2080H?
1. Brotherin-law/ers 2. Fathefin-law/re5aky
3. UnclebosHs 4. Brother®®ssrc

25) Five menA, B,C, D and E read a newspapefThe one who eads first gives to CThe one who eads last had
taken from A.E. was not the first orlast to read. There were two readers between B and. Who reads the
newspaper last ?

(2)
(2



http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db
http://cbs.iSkysoft.com/go.php?pid=2982&m=db

Remove Watermark Now

2oihds Sg%en A, B, C, D 58ckm E o8 oo $(@8% Sharth. Indes S6I3 o8 C 8 agyd. D50&° 5698 wdk
A %08 85T, E Intie MR, DI S858. B 200k A g5 698 Tt agth e, 9508° FTH@Es
SIS A5E?
1.B 2.C 3.A 4.D

26) A man walks 10 metes in front, 10 meties to the right.Then evely time turning to his left, he walks 5, 15 and
15 metres respectively How far is he now flom his stating point ?
a8 8 10 Dody L0obhFHNS, 10 Do) HATIIE SETH. SHTE (HOFO WHFTHIG SKHIr ©E 5, 15
0050 dedy ESrFdorr SEBH. Bdp 08 aoﬁ:’g‘azs HoHHS Jod Krdos® aami?
1. 20 metres 2. 15 metres 3. 10 metres 4. 5 metres

27) How many numbers from 11 to 50 ake there which are exactly divisible by 7 but not by 3 ?
11 %08 50 $8% Ko Hogpod®, 78 ‘é&nﬂ", wond 38 Home YLt Soggen Y aTow ?
1. Two 2. Five 3. Four 4. Six

28) Which two months in a year have the same Calendar ?
S Dot Fow &8 X TBoKE LA ?

1. June, OctobesS, e—sscfaos 2. April, JulylD@S, =8

3. October December/ea%éaa& &oxb 4. April, Novemberd®s, $50ad
29) If, Curr ency : Rupee, then Nationality :d83¢, (@&5o : Srarow, @onds® ddhd : ?

1. Nation&e8c 2. Personit)S

3. Patriotismps@zgsrso 4. Indiangrsdasndd e oioen
30) The antonym for ‘hard’ is:/‘&*g’ $% 55339135 DBSw

1. Rigidb=& 2. Softhrg

3. FlexibleBgyend 4. Toughéd
31) The synonym for ‘haste’ is :/"§:°§’ S BEPS H8B0 :

1. Hurryk®8 2. Fastrg 3. Rusht 4. Tougha§
32) Which one of the following numbers is wong in the series :

1,6,2,12,8,24?

& (808 $5%5 Sogges® w8 $3I0 . AN Beodin 1,6,2,12,8,24 ?

1.2 2.8 3.6 4.24

33) If a box is 2m wide and 1m deep, how long should it be to hold 16 cubic metrof sand ?
¥ 28 2 &, Stkey) BOcn 1 &, KFS/E0 KON Dotk 16 ErghE e wosd HRER Sodw SPED dod
SolSBH ?
1.12m 2.16m 3.8m 4. 10m

34) Rearrange the letter BCARLMEDS to make a meaningful word ?
©8508R HoyeEnss BCARLMEDS eggived 884 Seaken ?

1. CRUMBLED 2. SCRAMBLED 3. LEADERS 4. DEALERS
35) The battle of Bobbili was fought in the year &*8)0 akoglo 20n% Sok&)do :
1. 1755 2. 1756 3. 1757 4. 1758

36) TheAzad Hind Fauz was stated at :/ ‘we»& &ro& FF€ (P8ofoisalSe ?

1. Bangkokémgose§ 2. Tokyokssts 3. BerlinB8s 4. Singapor&onisrs

37) The sage who is said to havkr yanised South India was :

&80 PESER L5000 @5§&50'§dﬁwwm 5?5326&@ Hendadh Sud ?

1. Apastambha$sidrogs 2. Vasishthaﬂ%g
3. Vishwamitradz<ul 4. Agastyabiisy

38) Ashoka used to elease cemin number of prisoners on humanitarian grounds on evey anniversary of his :
0% Srsde ese)éo)c%»és (58 So&)B5n Fodod Pl & (8o =St & Sodg)amr bide Bokothor?
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1. Birthkygs &%e 2. Conquest of Kalinga®or 2200098 &%
3. Coronatiorﬁa:;é)éqéo
4. Conversation to Buddhis@iiissints $058% Soawe e
39) Jainism received a serious blow at the hands of:/
BX S8%0 280 D8S° o’y Ta/[3istdo Srobiks ?

1. Lingayatsdorrasbeen 2. Nayanarsooaedoen
3. Alvarskogesoen 4. Sankaracharysdsooartigen
40) Katantra Vyakarana was composed by frdog® 5880’ $Q0DI36 ?
1. Patanjalib&oe:® 2. Agastyadbiig
3. Gunadhyatbeseiedr 4. Sarvavarmay £8)
41) The founder of the ‘Servants of India Society’ was: / ‘éé‘goé‘fb @D 508 zﬁ"?oé ééé@'-’aéaw :
1. Dadabhai Naoroji/memreran 658 2. Gopalkrishna Gokhale/ﬁ%f’oée)oz ﬁsmé
3. M.G.Ranade/c%0.&.858 4. Balagangadhar Tilak/ererorrsd &8

42) The first Indian King who abdicated his throne, was :
SoodyRntieare HoIFIIS0 HOE;RoDI PEERE ooew
1. Chandragupta I/e.86:% So(&is)ed 2. Ashoka/e88%:%
3. Chandragupta Maurya/So(gida) $3°8ge
4. Samudragupta/d&o(ESrdReH
43) The founder of Nalanda University was :/So08 Q€iamgocho égéﬁ;b’;é;w :

1. Kumaragupta/ £:8rhae 2. Samudragupta/Jm(ESroe
3. Ashoka/e8%%:% 4. Nalanda/$e0806

44) What was the childhood name of Nur Jahan?/éabgs’:ss AT 2% ?
1. Banu Begam/ e B15% 2. Bharangal Nisha/g8oXS dap
3. Maharul Nisa/Sog5e dae 4, Mumtaj/Snozes

45) The Direct Action Day observed by the Muslim League was on :
Swpo O (P58 Fomgstes HZE0K PSS 3o

1. August 12, 1946 2. August 15, 1946
3. August 16, 1946 4. August 15, 1947
46) The Tweed Valley is located in :/555 &k &) (BB E5w ?
1. Bradford/z>&5 2. Leeds/9§)
3. Scotland/&r)Sermsol 4. Huddersfield/&¢6,9¢
47) Nicolaus Copernicus was the 16th Century:/Q8%¢5 5058 165 4579 :
1. Astronomer /g% rat’@aagti) 2. Mathematician/5e3& @@&gcﬁ)
3. Navigator/FPseairSsn Boboared 4. Philosopher/$&s @@ag;&

48) Annapurna, one of the highest mountains in the World is in :
BB Agows B EEmed® e 88 ORYRTE A e ?
1. India/z08&05e 2. Tibet/&z¢S 3. Bhutan/gieerS 4. Nepal/S>&
49) The bulk of the business relating to the Indian Stock Market is handled by the :
208058 5;5 SrBYEE Honofod ©fE Sogregs PTEI0D DI ?
1. Reserve Bank of India/0es8g r508 &% m0&die
2. Bombay Stock Exchange/ero@ <38 a‘é@oaﬁ
3. National Stock Exchange/S%&6 5 cD's,b)oé
4. International Stock Exchange/s0¢:0)336 8 aéamoa’?
50) Introduction a man, a woman said “He is the only son of my mother’s mother”. How is the woman related to the
man?
a8 HBHEY, &8 @ HOBAHZ 3;6.3 & DFSome BAIB. “aBd S olyly oY) o8 HErP6L”. © @, @ HBHIS
O PN o) BHEH ?
1. Sister/®56 2. Niece/Zo585 e 3. Aunt/a%y 4. Mother/$9
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51) Five girls are sitting in a row, Rashi is not adjacent to Sulekha or Abha. Anuradha is not adjacent to Sulekha. Rashi
is adjacent to Monika. Monika is at the middle in the row. Then Anuradha is adjacent to whom out of the follow-
ing?

% rden & SHIP RN eI, HoBpBHmD, wrdhmd, TR 0% Enokdk. wdhTd HDps Lod
KaookTih. oo IR 0B alni)d. VNP & (8o O’ kT 2%08® EORANKG ?
1. Rashi 2.Monika 3. Abha 4. Sulekha
52) Which two months in a year have the same calendar ?
& (8od BE J Both Joen a8 AP SBoKd LOAKHHD ?

1. April, June 2. January, December 3. April, July 4, June, October

53) Rahul ranks tenth from the top and thirty fourth from the bottom in a class. How many students are there in the
class ?
o8 S8K8E° TS B S0l HiE ToeB, (Bod S0l Enpy) Teoild TeBs’ . S8K8S° dodod ergdoen &
T ?
1.45 2.43 3.46 4.44

54) Inagroup of 15 people, 7 read French, 8 read English while 3 of them read none of these two. How many of them
read both French and English?
a8 15 100 ¥&rrind® 7 %08 (Fod, 8 %08 20T SHIHITNG:. wows® Lo (3) & TolodS® B
SB8LEL08E (PR Houk» 5005 BoBoB dod Lod BEoPHTB?
1.0 2.3 3.4 4.5
55) Find the missing character from among the alternatives :
& (80b slwai (BEepsmchined® $anPiond egdints Ehiridn ?
1.9 2.12 3.18 4.6
56) If these letters RIDANI DINAGM rearranged, it would be the name of a:
@3¢ RIDANIDINAGM @i o58sned 88 68055, 28 & (80d 0" A8 Boaofods a0 H&?
1. Political Ieadership/maéoﬁs FPOHBen 2. President/e—scﬁééxfa
3. Governor/K5%,6 4. Actor/Send [ 36
57) If KNOWLEDGE is coded as ‘256535475’ then ‘GENERAL is coded as :
53¢ KNOWLEDGE Q %088 9%&° 12565354757 80% ‘GENERAL’  $0388 926 & dgdom Beodsiy%?
1. 7545993 2. 7969393 3. 7555912 4.7555913
58) ‘Gas’ is to ‘Pipe’ as ‘Electricity’ is to :/ % 5% ¢ Sowogod)s®, werl aaéfeéé & (@ob &t dast
o205 ?
1. Current/830¢5 2. Switch/2xd
3. Wire/ 36 4. Regulator/or5866
59) Mention the sport/game with which the term Mashie is most closely associated?
& (8od QS8 ‘ésbegﬁq’ O SEEIH e SifS SomoFEng) Léci/eaéa:» (‘Oé%oxﬁazﬁ» ?
1. High Jump/3res0s 2. Golf/r*&)
3. Volleyball/zders 4. Kho-Kho/s®-&*
60) Mention the term with which the game Chess is closely associated ?
& (8ob A8 BT e wee BHS Somogng) Heikols “Oé%oiﬁaéw ?
1. Castle/ =208 2. Home Run/5% 85
3. Mashie/sm58 4. Raider/3¢6
61) Atrainis travelling at a speed of 120 kmph. How long will it take to travel 10km?
2.8 e ot 120 8.5 Jns® Boirdoh HHe. 10 8.8 Br8snd (Boirdodhnd JodTodnd SE ko ?

1. S5min 2.10min 3. 15min4. 30min
62) A students got twice as many sums wrong as he got right. If he attempted 36 sums in all, how many did he solve
correctly?

a8 g Bézpés JOGS Jrgrdiine E%) Bododen Edpen Do, 83 36 THOX (B oRENR) Bore A
B SOEE DFSom BT ?
1.18 2.24 3.9 4.12
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63) Re-arrange the letters SESTA to make meaningfull word?
80A QLYBD, SESTA o e¥bdne Kok @géoé@é D5 Beoydm ?
1. SETS 2.ASSET 3. TESTS 4 TSEAS
64) The outer layer of the earth is known as ?/5»% &%) Swde &) 6 dokd ?
1. Mantle/(@rar8s0 2. Core/SolBshotesm 3. Cirrus/Sgpgs 4. Crust/ardéresn
65) Which of the following is the major ocean of the world?
& (80d S° [PHossnst EBS SoFSS( S0 2B?
1. Indian Ocean/&rolir Ko:¥ddm(Eskn 2. Atlantic Ocean/eero@s Los5sm(Esm
3. Pacific Ocean /%8 SsBdkm(Esn 4. Arctic Ocean/es8)B8 :5dao|en
66) What will be the number added which makes 680621 a perfect squaroot?
680621 & Boggo OIS oo oid?

1)4 2)5 3)6 4)8

67) A shopkeepemets 15% pofit after giving the discount of 10% on the MRPThe ratio of expenditure and MRP
costs will be:
28 5ar0 a8 S8 10% TPond ) oW 15% orgo PO, ©oN I Tk i) KOk (HEeD Joo Sogss
A8 R0&?
1) 18 :23 2)17:18 3) 17:23 4) 18:25

68) A bicycle of MRP Rs. 2000 is sold with the discount of 20% and 10%. If a consumer pay in advance, then he
gets extra discount of 5%:The selling price of bicycle on paying advance will be:
a8 3_)%95 (B80S I 20008>. AR 20%,10% H8c» 5% Teond a) @33:&26, R0 dod?
1) Rs. 1368 2) Rs. 1468 3) Rs.1568 4) Rs.1668

69) Akash can do a piece of work in 6 days whiasudha does the same work in 5 days. If they both work together
and the total earns of that work is Rs. 660, then find the only shas ofVasudha in this amount:
&8 30 058 6 Swrod’ o B 5018 5 Sewred’ Bakyh. TG Gt KOR BILD Er.660 EHER0 wond S8 Ter
Qod?
1) Rs. 560 2) Rs. 300 3) Rs. 360 4) Rs. 420

70) Find the minimum number which after dividing by 16,18 and 20, we get aemainder 4 and that numberis
completely divisible by 7:
16,18 £805%0 20 oT8 grhosadd k0 4 aéb é@i.;a Jogyg o0k ©d Sogg 7 38 pNodorr grAoell?

1) 364 2) 2254 3) 2884 4) 3234
71) Battle : Ruination
1) Fire : Burn 2) Court:Justice ~ 3)Water:Drown 4) Food:Hospital

72) Doctor : Hospital
1) Plumber Wrench  2) Chef : Kitchen  3) Water :Tap  4) Farmer Village
73) Tap :Water

1) House : Family 2) Cup :Tea 3) Vase :‘Water 4) Book : Knowledge
Directions (Q.no:74to75) in the following questions, one option is ffent from the rest three. Choose the
correct option.
Directions (Q.n0:74t075%s Bobars® {08 99 deedy Hh8oied)
74) 1) Parrofens 2) Bafidhoo 3) Crowse8 4) Sparroyg:os
75) 1) Zebrgze 2) Tiger® 3) Lionosro  4) Horsébso

76) Pcan complete a piece of work in 60 days.Works at it for 15 days and Q completes theemaining work in 30
days.They will both together will complete the work in how many days?
o8 53D P 60 SPaod® Bakhgio. PHIN 15 Seren T2 Sovg8 HADS S Q30 Sered® Tavih. wowi Zndo $IQ
BEH EOD Y Forod® Bhgriods.
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1) 24 days 2) 25 days 3) 30 days  4) 32days

77) The product of LCM and HCF of two numbers is 24. If diference between two numbers is 18, the largest
number is:
.01 0w .. © ©Q0 24 o Sogge Bl S 18 wond g Kogy d6?
1)3 2)4 3)6 4)8

78) Inan examination, a student scogd 30% marks and failed by 12 marks. In the same examination, an another
student scoed 40% marks and get 18 marks mae than minimum passing marks. Minimum passing marks
are:
o8 $OEE° a8 QT8 30% Srdigen Fob 12 Srdym Swd’ S05E° ). Dbk I3 AP 40% Sy Srob. 18
SrEnen JEN PoB wowd :;age* P Erdnen Jod?
1) 102 2) 120 3) 132 4) 150

79) In thr ee numbers, first numberis double to second numbeand second numbeiis triple to third number. If
their average is 100, the largest number is:
S Natis) Sogyg Bo&R Sogyg %08 B@oa’a Sr8%» BokS Sogyg SomS ‘éozpeg% SoirBy St Sogge Bigen 100 ©ond 3:%5)
Rogg :
1) 120 2) 150 3) 182 4) 300

80) A business man exceeded the printed price (MRP) by 40% than the expenditurost and gave 25% discount on
MRP. The total profit availed by him is:
8 TR0 FRI0P 40% 8 En@od 25% Trowd 1Y) OIYDH wand oy FEo?
1) 4% 2) 5% 3) 10% 4) 15%

81) Aradio is sold in Rs.990 at 10% pofit. If the radio will be sold in Rs. 890, the actual pofit/ loss is:
¥ TG 990 8.8 odjtodes 10% ogo Frodd. u¥ S0 890 Sred, OB TPo/SgH Jod E0?

1) Loss of Rs. 10 2) Profit of Rs.10 - 3) Loss of Rs. 90 4) Profit of Rs.90
82) If 20% of (P+Q)=50% of (P-Q), then P:Q; is: 33%%
1)7:8 2)7:3 3)7:5 4)5:7
83) What percent of 30 in 90?
1) 33% 2) 663 % 3) 66% 4)
84) In 729 L mixtur e of waterand milk, the ratio of milk and water is 7:2 ratio of milk and water, we have to add.....
of water:
729 He8 Fov H0ak A Sk 1Y 7:2 wowd © DZB 7:3 I SrBeol Ay Y dwdy Sodrd:
1) 81L 2) 71L 3) 56L 4) 50L

85) The average weights oA, B and C is 45kg. If the average weights éfand B is 40kg and B and C is 43 kg, then
the weight of B is:
A, B58%n Co Jifen 208 453.8. A, 50005 B Siféw 208 40 3.2, $00%n B,C o difén 2% 433.8 e ewond
B 205 Qo&?
1) 17 kg 2) 20 Kg 3) 26 kg 4) 31 kg

86) Intherow of 12, 15 and 18, equal numbeaf soldiers exists. In ordetto make the arragement as perfect squar
as a whole, the minimum numbeiof soldiers required is:
12, 15 £00%» 18 © T8 grhoSad ©8 OF) pNSEWR $Bo Jod?
1) 189 2) 450 3) 900 4) 32400

87) If 80% of grains are there in a mixture of grains and pulse. In ordetto make the pecentage of grains of the
mixtur e 90%, how much quantity of grains will be added into above 150 kg of mixtaf
150 3,20 Grargen $0an Siipe DFS0s’ 80% e S0, RS’ Dok Trikso SOBE ©8 90% ©ikd?
1) 50 kg 2) 150 kg 3) 90 kg 4) 120 kg

D)
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88) In aclass, the numbeof girls are 20% more than that of boys.The total capacity of class is 66. If 4 margirls
are admitted into the class, then the ratio of numbeof boys and girls will be:
¥ 818" olimones, vaENeEd) 20% S, © E8K8S° Fndo 66 Hob. T 4hd vimener SOBK. ©
88158859 weTone $dakn @53‘30;3053 é:égg U8 Q0&?
1)1:2 2)3:4 31:4 4)3:5

89) While going to the school, a boy walks with the speed of 3 km/h and at the time eturning to the home, he
walks with 2km/h. If he takes 5hr in going and coming to the home, then the distance between his home and
school is:
a8 arentd i Bhedpd 3 kmh e (Hardod 808 SHwEPe 2km/h. Fres® Hasrdosd. & Fwdo
(Boireaod® 5 fowen Hako 38D, vl 28 Dok 2088 Erdo ?
1) 6 km 2) 5km 3) 5.5 km 4) 6.5 km

90) A train of length 150 m ciosses a pole in 15s and an anothiain coming from the opposite diection crosses
the same pole in 12sThe speed of second train is:
150me PE38 Beo a8 Joard) 15 Dos® rins. F&°8 Bev ©F Foard) 1226 mrénid. wowd Toks Jeo Jifo
Qod?
1) 45 km /h 2) 48 km/h 3) 52 km/h 4) 54 km/h

91) A person spends 20% of his total earn on daily expenses and 15% efmaining on house ent. After these
expenses, he save Rsl360.The earn of this person will be:
¥ S8 0808 $3) €808 20% S 0 pByeH PV, WAOS. TS 15% zod ©TH 1. Bo¥ ©I BY
11560 ®oxsd @39 £8o Jod?
1) Rs. 18320 2) Rs. 17000 3) Rs. 16500  4) Rs. 16000

92) An amount gets doubled in 10 yrs. In how many years, it will get tripled with the same simple intest?
wézéé B0 10 Sosgred® ol oy Do) i, e ey Tarooll B85 A HoddyTre L
1) 12 2) 15 3) 18 4) 20

93) Mand N complete a piece of work in 15days and 10day®apectively They both togetherstart doing the work
but after 2 days N takes leave and M does thest piece of work aloneThe total number of days to complete the
work is:
28 S0 M 2005 Neo 15 506 108°08® Fbgiot. st Sod S (Fodod 2 Sarer Sox8 NSV S50
3%, WADS BV M 8 T3, wowd S Indo PO wibed Jod Shoho Higks?
1) 10 days 2) 8 days 3) 12 days 4) 15 days

94) Ifapropertyis sold in Rs. 45000, then one has 10% loss. In orderget 15% profit, the same poperty must be
soldin:
¥ $o°R) 45000 Sro elyko Hui 10% ko STk, 08 o) 15% ego Fomreol Jodsh ©smo?
1) Rs. 50000 2) Rs. 55000 3) Rs. 57500  4) Rs. 60000

95) A boat takes 8 h to covedistance of 40 km on in downstam and the same boat takes 6 h to coveistance of
36km on upstream.The velocity of that boat on waterat rest will be :
o8 S5 DB Parirade® 408. 2o Erdind 8 h Easrdohn. ©F S8 IO (Harirs K80y a¥S° 36 8.0, rdo
6ifotws® [Hoirdoih. wand HES Jo Jog?
1) 6.5 km/h 2) 5.5 km/h 3) 6 km/h 4) 5 km/h

96) A mango tree is of same height as that of coconutete. The height of banana tee is less than that of palm &e.
The height of guava tee is lessthan that of banana é&e but is highterthan mango tree.The highest tree is :
o8 Sl Beyp )0 iy w08 FEY Lo, v¥Bh Biy B Bey EF) DHA. D Jey VS TSR T
So0ckn Erdod Bey ) PED. vond PEFS Bey. AB?
1) banand®s®) 2) palm(@&3ey)  3) mangoErand) 4) guavderso)

(8)
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97) Aisson of C. C and Q both ag sisters. Z is mothef Q, Pis son of Z.The correct statement is:
A, C S8 Hirdath. CHodain Qen LB, Z,Q So¥) EY P, Z Qo) H5rtothr. o (Bod > PS8,
1) PandA both are cousin brothersfBoasn A J8ecren
2) Pis maternal uncle a%/ P, A &), &8
3) Q is grandmother @/ Q, A &) esysy/mcaHdsy
4) C and P both are sistersi@osn PR8:565e0en
98) Find the next group of letters for the following series:
BGV, CIW, DKX, EMY,.....
1) FNX 2) FPZ 3) FOz 4) UNO
99) If STUDENT is coded as RUTEDOS, then in the same code language RDGPKBQ will be coded as:
Bod $8ge%s® STUDENT:S RUTEDOSI (@ardh. wond RDGPKBQm 829 (w3
1) SHERBET 2) SHINGLE 3) SHACKLE 4) SCHOLAR
100) If GARDEN is coded as 325764 an/ATER is 92165, then in the same code languag®ARDEN will be coded
as:
2.8 $8gris® GARDEN & 325764w WATERS 921658 (@328, @and WARDEN:S & ore (@arss?
1) 925764 2) 295764 3) 952764 4) 957264

©)
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Solution Paper Code 102

66) Calculate the square root of 680621 with the help of
divide rule.
825
8 |680621
64
162 406
324
8221
8225
-4
67) Let the total expenditure and MR#Bsts are x and y
respectively

100+15_
100

1645

78)

100-10
100

Then, xx =yX

68) Given, total estimated cost = Rs. 2000

The selling price after discounts of 20%, 10% and 5%

79)

69)

ol

The work done bykansha in one day
and the work done byasudha in one day =

The ratio of work done by both =
=5:6

If they both work together then the total shares of GAIy7 €

Xy =24 --- (i)
2 (i)

According to question, X -y =
From (i) & (ii) we get,

The greater number is 6.

Let x are those marks which are required to get
passed in exam and maximum marks are y
yx30% =x-12

%:x—12:>3y:10x—120

10x-3y=120 and

Solve the Egs. (i) & (ii) to get the value of x, we
get,
5x=240=270=510 x=102
Let the third number = x
Second number = 3x
and first number = 6x
According to question,
10x=300= x =30

Greatest number = 6x = 6 x 30 = 180

80 .. 90 . 95

_ —zooo'gﬁw gmmgld(scount selling price
Vasudha = =Rs.1368
- 7x,100-25 _7x, 75 =Rs Ax
70) L.C.M. of 16, 18 and 20 = 720 5 100 5 100 20
The required number = 720k + 4 21,
Now, we have to select the value of k in such cway that Required percentage profit10 10 x100=5%

the required number will be completely divisible by 7.

If k = 4, then 720 x 4 + 4 = 2880 + 4 81)
=2884=412x7
0 The required number = 2884
76) One days work of P=
15 days work of P= = 82)

Remaining work =

Remaining work is only done by Q in 30 daygg)
1 work is only done by Q in

One days work of Q =,

The work done by P and Q in one day

0 P and Q both, together complete the work in8244
days. )

Let the numbers be x and y
Product of numbers = LCM x HCF

77)

100 _gony100_
100+10 990 110 1900

0 There is loss after selling it in Rs. 890.
So, total loss = 900=Rs. 10

(P+Q)x  =(P-Q)x

Cost price of radig990%

%

2P+2Q=5P-5Q,3P=7Q =

Let there are x and y boys and girls in the class,
respectively

then, according to question,

68 (x+y) = 60x + 80y

68x+68y = 60x + 80y

8x=12y = =

Percentages of boys in class =

The ratio of milk and water in the mixture =7 : 2
Total quantity of milk in 729Llmixture

=_7 _x729=567L
7+2

@
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and quantity of water = 729 - 567 = 162L

. . . 92) Let principal = Rs. P and rate = r%
Nwo, x L water is also added in the mixture.

In the question, SI =Rs P
According to question, Op=PXrx10 . —10%

100
1134 =7x=1701

> - B Now, simple interst; SI = 2P
7x=1701-134=567- x=81L op= 2p =P 10x 1

85) According to question, 100
, A+B+C=135 ---(i)
and (i 93) The work done by M and N in one dayll'gsand
and ——(iii) , respectively

Now from Eq. (i) & (ii), we get, Total work done by M and N in one day

80+C=135 C=55
From, Eq (iii), we get, B + 55 =86 B=31kg. Work done by M and N in two days ==
86) LCMof 12,15and 18 =180=2x2x3x3 x5 Remaining work =

In order to r_nakg 180 a perfect square root, we have Total number of days taken by M to dowork
to multiply it with 5.

Minimum number of soldiers required alone=
=180 x 5 = 900 Total time taken to complete the work
87) 80% of grain in 150 kg mixture =2+ 10= 10 days
94) Selling price on 10% loss = Rs. 45000
= and 20% of pulse = 30 kg _
) ) 0 Cost price =
Letin order to make 90% of grain, we have to add
x kg of grain in the mixture. = Rs. 50000
0O Selling price on 10% profit

O

1350 + 9x = 1200 + 10x

x =1350 - 1200 x =150 kg.
88) Let number of boys =X

and number of girls =

According to question,

= Rs. 57500
\&q%geam%oﬂkm/ h

36 —6km/h
sgem ¥ o/

1 ater at resB*6=11=s skm/h
X MR ! 2 2
96) According to question, order of trees
11x=330 x=30 Mango = Coconut (i)
The required ratio of number of boys and girls Banana < Palm ---(ii)
Mango < Guava < Bananac(iii)
On combining Egs.(i), (i) & (iii), we get,
Coconut = Mango < Guava < Banana < Palm
_ C d.d_ O Highest tree is Palm tree.
According to questiony +5 =5 97) According to question,
2d=3d=5x6 5d=30 d=6km

90) Length of train = 150m

89) Letthe distance between house and school =d km

Initial velocity of train = =10 m/s
Now, let the final velocity of train be x. 98) Series sequences is

B—>c tap e e, [F
Then, G2 1 2ok 2» M2l

Ve ey My v #

91) Let total income person be Rs. x

According to question, )
100-20,,100-15_ 99
x2IIT LY 2OV LD —
XX 00 100101000 11560
= x = x2UY =Rg,
x=11560 30 <85 Rs.17000
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